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Test One

Part | Listening Comprehension (35 minutes)

Section A

Directions: Inthis section, you will hear 8 short conversations and 2 long conversations.
At the end of each conversation, one or more questions will be asked about what was
said. Both the conversation and the questions will be spoken only once. After each
question there will be a pause. During the pause, you must read the four choices
marked [A], [B], [C] and [ D], and decide which is the best answer. Then mark

the corresponding letter on Answer Sheet 2 with a single line through the centre.

1. A) The lawyer isn’t in Chicago.
B) The lawyer advertised in many newspapers.
C) The lawyer knows his case better than others.
D) The lawyer is not known to the man personally.

2. A) The man will buy the car when the woman’s sister is back.
B) The man is going to make a bargain before he buys the car.
C) The man is not convinced by the woman’s description of the car.
D) The man believes every bit of the woman’s account.

3. A) Going to some other parties.

B) Going on a business trip.
C) Getting involved in much housework.
D) Looking after her parents who are both aged.

4. A) He is terrified by and convinced of his kidney calculus.

B) He hopes the doctor may misdiagnosed his case.

C) He thinks it for sure that kidney stdnes cause piercing pain.
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D) He believes having kidney stones was his mistake.
5. A) Learning a new way to control the mosquitoes.
B) Helping the scientists to find a way to control mosquitoes.
C) Learning how to control the spread of mosquito-related diseases.
D) To investigate the causes for the multiplication of mosquitoes.
6. A) The reason why the college is named after William and Mary.
B) The college name, which does not correspond with its size and celebrity.
C) The cause of college people’s pride.
D) The celebrity of the college.
7. A) A friend of the man’s. B) A shop assistant.
C) A worker in a camera factory. D) A repairwoman.
8. A) The dishes and soup routinely taste so-so.
B) Important figures are coming to inspect the canteen.
C) Better cooks have come to replace the former ones.
D) He thinks the improved quality of food a natural result of students’ suggestions.

Questions 9 to 12 are based on the conversation you have just heard.

9. A) Political figures and economists. B) College students.
C> Common people. D) Kids in general.
10. A) Medical consultation. B) Scientific exploration.
C) Food and drinks. D) Keeping of cats and dogs and so on.
11. A) On rare occasions. B) Frequent.
C) Relatively fewer. D) Never possible.

12. A) The chief editor.
B) The chief editor and the staff.
C) Amateur photographers and writers.

D) All editors, professionals and amateur contributors.

Questions 13 to 15 are based on the conversation you have just heard.

13. A) The movie’s artistic appeal captures young people even today the world over.
B) Young women today enjoy moving romance and handsome movie star.
C) All art creations last long and are treasured by people of all nations.
D) The special effects used in the movie makes Titanic a true piece of art.

14. A) It is a waste of effort. ‘ -



B) It is a financial success.
O) It is worth his time and efforts, though not necessarily a financial success.
D) It is not rewarding as he expected.
15. A) They make people believe in them.
B) They are absolutely good or bad as movie characters.
C) They are true-to-life characters.

D) They are good people with shortcomings.

Section B

Directions; In this section, you will hear 3 short passages. Atthe end of each passage
you will hear some questions. Both the passage and the questions will be spoken only
once. After you hear a question, you must choose the best answer from the four
choices marked [A], [B], [C] and [ D]. Then mark the corresponding letter on

Answer Sheet 2 with a single line through the centre.

Passage One
Questions 16 to 18 are based on the passage you have just heard.
16. A) 43 years’ Smithsonian Folklife Festival.
B) This year’s Smithsonian Folklife Festival.
C) The small country Wales that belongs to U. K.
D) The language Walsh.
17. A) It is a dying language.
B) It is not much supported by the British government.
C) It signifies Welsh people’ national pride.
D) The Smithsonian Festival uses the language. ‘
18. A) We can learn how slate is used in traditional Welsh building.
B) We can see how wool thread is hand-made from a sheep as a Welsh industry.
C) We can watch Welsh musicians perform music on a stage.

D) We can sit down and drink a beer in a Welsh-style pub.

Passage Two
Questions 19 to 21 are based on the passage you have just heard.
19. A) Safety measures during air travel.

B) Swine flu is declared a disease spreading the world over.
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C) Prevention and cure of swine flu while traveling.

D) Prevention of swine flu in air travel.
20. A) Swine flu does not affect international trade and travel.

B) Mild cases of swine flu constitute no great worry.

C) Cropping-up swine flu reports cause great concern.

D) WHO takes conflicting but cautious approach to today’s safety in air travel.
21. A) Using hand-sanitizer wipes.

B) Washing hands with soap and water.

C) Covering face with a surgical mask.

D) Avoiding traveling when sick.

Passage Three ,
Questions 22 to 25 are based on the passage you have just heard.
22. A) A rabbit is.a brave swift animal.
B) A rabbit can not do something surprising.
C) A pet animal is a really lovely useful animal.
D) A pet animal can save people’s life.
23. A) He was just back from work.
B) He was going to work on night shift.
C) He wanted to watch night news programs.
D) He could fall asleep with drinking wine.
24. A) Because as a timid animal the rabbit is frightened.
B) Because it is seeking protection from its owners.
C) Because it wants to give its owners a warning.
D) Because its cage in a back room is burnt to ashes.
25. A) The family suffered minor losses.  B) The family suffered huge losses.
C) The family suffered no injuries. D) The family’s house was burnt down.

Section C

Directions: In this section, you will hear a passage three times. When the passage is
read for the first time, you should listen carefully for its general idea. When the
passage is read for the second time, you are required to fill in the blanks numbered
From 26 to 33 with the exact words you have just heard. For blanks numbered from

34 to 36 you are required to fill in the missing information. For these blanks, you
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Test One

can either use the exact words you have just heard or write down the main points in
your own words. Finally, when the passage is read for the third time, you should

check what you have written.

People invariably believe that money can make them happy and rich people
(26) do report being happier than poor people do. But if this is the case,
shouldn’t wealthy people spend a lot more time doing (27) things than poor
people?

Nobel Prize-winning behavioral (28) _ Daniel Kahneman has found,
however, that being wealthy is often a powerful (29) that people spend less
time doing pleasurable things, and more time doing (30) things and feeling
(31)

People who make less than $ 20,000 a year, for example, told Kahneman and his
(32) that they spend more than a third of their time in passive
(33 — watching television, for example. Those making more than $100,000
spent less than one-fifth of their time in this way — putting their legs up and relaxing.
Rich people (34) . The richest people spent

nearly twice as much time as the poorest people in leisure activities that were active,

structured and often stressful — shopping, child care and exercise.

Kahneman and his colleagues argued that (35)

: When they think about what it would mean to be wealthy,

they think about how enjoyable it would be to watch a flat-screen TV set, play lots of
sports or get a lot of pampering — our stereotypical beliefs of how the rich spend their
time.

“In reality,” Kahneman and his colleagues wrote in a paper they published in the
journal Science, “they should think of spending a lot more time working and

»

commuting (36)

Part T Analyses & Translation

Section A

1. BELE.D), Wi, BHHRHESEELS WL ES MEF K Sidley £ T , ME I i
B. B EMMEA R . AT LW,

2. BRE.O. BEENARE. BHHREBEEAAEBERX. SHZEREAMHEL
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ROk, Brig iR A, B g,

3. MEE.C. GAHMEE. BERNELEE TR TS, XERXF . BIHEE
ARBACOHZ . DTEERNE [ CE, BT TR

4. BRE.B), MBS, MILTRERET . EERAERETS . WHW SRS,
FRERAERATRAEEA. MRE - NREFRT M EREZREDS
W, EAERZREMMAENE.

5. BRE.A) ., AEEFLBTHES. BREREMEILEFRRREXECY
R, X R SE, SREAREREESEBANEHE. BRIREH
Wk EE BREYY ARETRACHR. BHEER BT, AR5 H
ST &R A R

6. KER.B., PRE. ZEERAERHABNEARERITT. MUEASREBHER, X
B e BB R 4R A e R 2, 0 24 1l university, BiY LA TR 22 (9 At 4 BEFR A college.

7. BRED) . BHANE., BRITITITRAMENERITRIRESE. TREBRAE.HR
TREAEPZMILIMEST . iER B W ERL, L& RERGTATT, R R
HNAT - REALBETA, AR—BREHRA. -

8. BRE.A., HWH., BEARKTEMELRE ISP MR, 5 2% R b E 373
T E .M it looks like A] LAWr & fbth iz R ABE . XA ETRAEAHEFERE
ERAREEARNEL. i REBAEEERWHE, OKREF.

9. BRE O, WM., MR AERIRGE KB ES DS, EZTERRRK
MW, NREENBHARRET ¥ K . REAREF D FHRD .

10. BEE:B. ANFERNE. (BEAEHRIAD EREZHRROIER, RARER
RMABHER S AT .

11, ZBRE.A), HXBFEILCHAY IS . only once in a blue moon &5 4k ¥ 415
BHile., ARLHE MMP>—SEBRARAEE.

12. BER.D). ZAWFEL. BHARINBHLANESEGE FRINFEFTRZRNFY
IR R MRS BAH — 3 —F Rl R TIES.

13. ZRE A, BEESCEME . FIARETEA U IE R 2 AR K% A 36 E 2 6
B, MARZHFAEEARERNRER. THELINAIXE MR ERENER
2 AREARRIIFEE -RWEE. AR ES X MG BEAXFBNS
MEARBORME. XHNMESRBRNFEEL FEEA R T UARRERER.

14, BEE.O. HWE., MMAREELESTRER 2.5 2T XA R, i F 2 7E
BRI FORE D ERA M TR, HEMBERBE, RABRE L, UE5KRADRERRF
BE. BWE 2.5 LETHBE . BAES WIFNEIXAMHNEEZRUEESH
Z M.
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Test One

15. XRE:B). AXHEBE. LR LT CH K iE L. stereotyped characters
MNETFTXERARMABRNEEACUE ABPAFE, A REX IR, B
k.1, BRERMEIIEAMG AEMBALAE KERBREILEZK,
TRZEE. (FHER S IXBEENEEADACME, REREREE.

Section B

16. ZEZ:B, ¥EE. ANEHREXXEMA LBRRNEYHEEEREEDHEE
DHBFE-EHRBN BERXRARATXEMEALMBERSMXHIFEZRE.
TR T A 4R B R 2009 R R BUR T RIBT .

17. BREZ O, HEE, XTMERAXERBIELS BN HERLIE, TREHEA XM
EEEAT B/REARE SR, 820, B3R e 3 0T 0 BUR 1 3E RATH
HEAMIET AELT0ZENER, R TERDPNEST. G AR BECH
BERBRF AR WRR KA RIE L. M ATHEFT A BB 5 I 3 3%,
N E 2 RIES W E S

18. BZRE:D)., BEBNHEME., EEBEERIASMRMET RN LT /R L
EGEBEM AR TUBERRELEENEE TV FITRERE . TUERR L F RS
GRE., AVWIRRLEES BB MERLEREEE, RASE FEBRR LW
B A ER., EARBTMENE ASZBX —RMiHRAR, FHZE . &
INRAAFHABRESIEEE, BHE, AR RMEXIE.

19. ZREZ:D), ¥58., @R EFEUWHRAER CHMTHFILERBYEE. —FF
WA VLB AL RAEAN NN B A 25 R IR YT , SR AE N EE  HE IR DAY
A7 W B HINL SRR R E B AP JE B 3L . 2R 5 U 8 i 0 A HIND iR
BB 2RV 22, W] LSRR 3 36, BT LA TR s 2 A0 ) 78 KWL BB R R .

20. BRE D), HWHEE, AT AANEXFEHPEMALEDE, WS MK
WelEIH, R DA H 8 F4F 4036 B B HINT FURRH A AR E R MM, T EE X
WO IRIEH 2 2, BREEDNOWEENZLERTRLERN,

21, BEE A, HFRESYHEE. Gendreau EAE W KKITELEE, =4 8H
FRE: FIK R BT MO R, AR ERART. NEBAEHESER N, 0E
ELWHEESBEOS0%, KILEBEREEAEFN, EXAXHERTBEERER
.

22. BRE B, REWIEEME. 2B UUREF IR, e LI BT SCHE M “it can
never amount to anything great”, % F .45 B 2 B W, /P35 7/ Z W LB, 85T
TR AT RE, FLURE"RRBDAENTHE.

23. BRERE:A ., AW, W EZRIEEBR, AKFEE —F5R, Fa e, x
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APHE 6 KRE WP HEU+ Al

B, WA T SE B 6 A UK R, — AR QR B -2 drink) R & F R AR
T TR R ) A B B E (didn’t fall asleep) , A £ BE K % (can’t fall
asleep) . ¥ A S £ LN FRIEER ERAA, REHEHEE.

24, MER.O), HNE, BORAMTFHEITENITAEARE. XRNWEYRTRE
R—E R BT, A B, B TR 2k, AT T 2, FE XA
KRBT, AR AERBBRAR T, BREMAFH T/ 7 R B/RA M E T
Bi R BA 1A T - BT R UEX , A FHEBH O FAZGE.

25. BRE.B), LEIEEMME. MK KEKIS, I EB A (crew ZEEL
7, 10“s” R R 2R A S50, TR Bk 2 B0 A K K (blaze) K, §EER T A
AN, MEBETEET . RESEELSR, RIS ANRE RERA RS,
HREANRZYG, SEEEX. ‘

Section C
26. usually 27. enjoyable 28. economist 29. predictor
30. compulsory 31. stressed 32. colleagues 33. leisure

34. spent much more time commuting and engaging in activities that were required as,
opposed to optional '

35. many people mistakenly allocate enormous amounts of their time and psychological
focus to getting rich because of a mental illusion

36. and a lot less time engaged in passive leisure

BEEX

ATEURNEREEAEE —ICERENE ARLLHT AZHE. TR, ZERWD
HE ABRASRMY LHF ANEELSHEHBILEE CIFLHET X2

R TURRBETRERFERARK - FEERA. R EEA NIOEK.
B A ATF 03 BB AL D GR B B R R £, T B R R R

HERFEEMMMREMNNERRL BFEFRRIRTUTHA, Z0Z—UEN
RfEAEREMZANEINEERES L, MG EFER - FAXTULEHARTH
BRMXFEESHNNERELSZ—. ARALEZH A EREE, H—LIEBMA
AL TART AEERNERE. BA RN LRSS B NTER T w5 5 i, — 28
B AR LHF N EERENRNESD —REB/DERER BRI

FRENMHRAEMNNERE, FEALRERNEAANLCENMEXERMHE
EOREREAEM EMLOE. FEMANAINREREREREMF AN, AMNEAZHEWE
FHATHEE .ZSNMEMETHEMAEER ——2RRIMNXTRFEAERELH
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Test Two

Part | Listening Comprehension (35 minutes)

Section A

Directions: (F&)

1. A) Doing shopping on the Internet.
B) Just surfing the Internet. ,
C) Buying some dress for his wife as a birthday present.
D) Going to a show with his wife.
2. A) The man has perfect faith in winning the race.
B) The man will fail since he is too proud.
C) The referee is being unfair to the man in the race.
D) The man needs more than confidence for the race.
3. A) The woman is complaining about the newspapers’coverage of bad news.
B) The man agrees with his wife’s opinion.
C) The man thinks the newspapers have overdone with the coverage of bad news.

D) The man tries to comfort his wife by citing the newspapers.

4. A) Quitting school. ' B) Forming his computer company.
C) Staying at school. D) Not mentioned.

5. A) Feeling lucky. B) Feeling worried.
C) Feeling angry. D) Feeling grateful.

6. A) The man enjoyed staying in Delicious Sirirath (3 & & £).
B) The man wasn’t sure whether he liked the life there.
C) The man didn't get quite used to the local Tibetan food there.
D) The man enjoyed frequently watching Tibetan antelopes on the vast Qinghai grassland.

10
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Test Two

7. A) Sending his wife to the hospital.
B) Finding a psychiatrist for her.
C) Helping her seek medical as well as psychological treatment,
D) Buying her more sleeping pills.

8. A) She didn’t pass the graduation examinations with flying colors.
B) She failed to find herself a satisfactory job.
C) She became lazy in the making-up matters.

D) She became careless after she left college.

Questions 9 to 12 are based on the conversation you have just heard.
9. A) Founder and adviser to the business.
B) Head of sales section or department.
C) Co-manager in the company.
D) Retired clerk.
10. A) At the railway station near the central business district.
B) In downtown area.
C) In an out-of-the-way back street of the town.
D) In the central business district.
11. A) Finding a good lawyer to represent the company.
B) Not depending on special agency to hire clerks or workers.
C) Spending much money on advertising including making TV advertising.
D) Moving to the new location next month.
12. A) Intelligent and reliable. B) Reserved and cool-headed.
C) Initiative and pioneering. D) Respectful and cooperative.

Questions 13 to 15 are based on the conversation ybu have just heard.
13. A) National pride. B) Great interest.
C) Curiosity. D) Hesitation.
14) A) Because he is a national hero.
B) Because he used to be king of Scotland.
C) Because he made great contributions to Scotland.
D) Because his poems reflect their genuine feelings of national pride.
15. A) Ian Wilmut B) James Watt.
C) Adam Smith. D) Alexander Graham Bell.
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